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• Q1. Ramesh is 7 ranks ahead of Sumita in a class of 39. If 
Sumita’s rank is seventeenth from the last, what is Ramesh’s
rank from the start?
(a) 14th
(b) 15th
(c) 16th
(d) 17th



• Q2. If kallol finds that he is twelfth from the right in a line of 
boys and fourth from the left, how many boys should be 
added to the line such that there are 28 boys in the line? 
(a) 12
(b) 13
(c) 14
(d) 20



• Q3. In a row of girls, Kamalika is fifth from the left and Preeti
is sixth from the right. When they exchange their positions, 
then Kamalika becomes thirteenth from the left. What will 
be Preeti’s position from the right? 
(a) 7th
(b) 11th
(c) 14th
(d) 18th



• Q4. Arjun is seventeenth from the left end of a row of 29 
boys and Karan is seventeenth from the right end in the 
same row. How many boys are there between them in the 
row?
(a) 3
(b) 5
(c) 6
(d) Data inadequate



• Q5. In a class of 60, where girls are twice that of boys, 
Pushpa ranked seventeenth from the top. If there are 9 girls 
ahead of Pushpa, how many boys are after him in rank?
(a) 3
(b) 7
(c) 12
(d) 23



• Q6. In a row of boys, A is thirteenth from the left and D is 
seventeenth from the right. If in this row A is eleventh form 
the right then what is the position of D from the left?
(a) 6th
(b) 7th
(c) 10th
(d) 12th



• Q7. Forty boys are standing in a row facing the North. Sumit
is eleventh from the left and Deepak is thirty-first from the 
right end of the row. How far will Shreya, who is third to the 
right of Sumit in the row, be from Deepak? 
(a) 2nd
(b) 3rd
(c) 4th
(d) 5th



• Q8. In a queue, A is eighteenth from the front while B is 
sixteenth from the back. If C is twenty-fifth from the front 
and is exactly in the middle of A and B, then how many 
persons are there in the queue?
(a)  45
(b)  46
(c)  47
(d)  none of these



• Q9. In a queue, Karan is ninth from the back. Arun’s place is 
eighth from the front. Nikhil is standing between the two. 
What could be the minimum number of boys standing in the 
queue?
(a)  9
(b) 10
(c) 14
(d) 17



• Q10. A is 27th from the right end and B is 22nd from the left 
end of a row. If they interchange their positions, then A 
becomes 22nd from the left end. If all are facing same 
direction then how many persons are sitting in the row?

• (a) 48

• (b) 50

• (c) 49

• (d) CND



• Q11. In a row of girls, Rita and Monika occupy the ninth 
place from the right end and tenth place from the left end, 
respectively. If they interchange their places, then Rita and 
Monika occupy seventeenth place from the right end and 
eighteenth place from the left end respectively. How many 
girls are there in the row? 
(a) 24
(b) 26
(c) 27
(d) Data inadequate



• Q12. Rakesh obtained more marks than Suresh but less than 
Santosh. Ramesh obtained more than Rajesh but less than 
Harish. Santosh obtained less than Rajesh. Who obtained 
the highest marks?
(a) Santosh
(b) Rakesh
(c) Ramesh
(d) Harish



• Q13. Among P, Q, R, S and T, S is older than R but not as old 
as T; Q is older than only P. Who among them is the 
youngest?
(a) P
(b) Q
(c) R
(d) Can’t be determined



• Q14. Among A, B, C, D and E, A is taller than B but shorter 
than C. B is taller than only E. C is not the tallest. Who 
among them will be in the middle if they stand in the order 
of their height?
(a) A
(b) C
(c) B
(d) None of these



• Q15. In a row of girls facing North, Reena is 10th to the left 
of Pallavi, who is 21st from the right end. If Malini, who is 
17th form the left end, is fourth to the right of Reena, how 
many girls are there in the row? 
(a) 37
(b) 43
(c) 44
(d) Data inadequate



• Q16. In a queue, Ajay is eighteenth from the front 
while Bijay is sixteenth from the back. If Sujay is 
twenty-fifth from the front and is exactly in the 
middle of Ajay and Bijay, then how many persons are 
there in the queue?

• (a)45
• (b)46
• (c)47
• (d)none of these



• Q17. Ram is 11th to the left of Shyam, who is 
15th from the left end and Jadu is 20th from the 
right end of a row, then what is the position of 
Ram from the right end of the row?

• (a)51
• (b)50
• (c)49
• (d) can not determined



• Q18. In a class of 60, where girls are twice that 
of boys, Pushpa ranked seventeenth from the 
top. If there are 9 girls ahead of Pushpa, how 
many boys are after him in rank?

• (a)3
• (b)7
• (c)12
• (d)23



• Q19. In a class Harsh is 10th from the top and 
Dipshita is 20th from the bottom. Naveen is 11 
ranks above Dipshita and 21 ranks below Harsh. 
How many students are there in the class?

• (a)60
• (b)62
• (c)61
• (d)58



• Q20. Among A, B, C, D and E, A is taller than only 
B but shorter than C. C is taller than E. C is not 
the tallest. Who among them will be in the 
middle if they stand in the order of their height?

• (a)B
• (b)C
• (c)A
• (d)None of these
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